Calcular Porcientos (G)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $2,599.00 es
$987.62?

- ¢Qué porciento de $7,914.00 es
$5,302.38?

- ¢Qué porciento de $8,968.00 es
$269.04?

. ¢Qué porciento de $2,575.00 es
$1,287.50?

- ;Qué porciento de $6,041.00 es
$1,268.617?

10.

- ¢Qué porciento de $3,392.00 es

$2,781.447

;Qué porciento de $9,476.00 es
$4,264.207?

. ¢Qué porciento de $8,839.00 es

$5,038.237

;Qué porciento de $5,053.00 es
$1,869.617?

;Qué porciento de $1,930.00 es
$1,466.807?
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Calcular Porcientos (G) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $2,599.00 es
$987.62?
38%

- ¢Qué porciento de $7,914.00 es
$5,302.38?
67%

- ¢Qué porciento de $8,968.00 es
$269.04?
3%

. ¢Qué porciento de $2,575.00 es
$1,287.50?
50%

- ;Qué porciento de $6,041.00 es
$1,268.617?
21%

10.

- ¢Qué porciento de $3,392.00 es

$2,781.447
82%

;Qué porciento de $9,476.00 es
$4,264.207?
45%

. ¢Qué porciento de $8,839.00 es

$5,038.237
57%

;Qué porciento de $5,053.00 es
$1,869.617?
37%

;Qué porciento de $1,930.00 es
$1,466.807?
76%
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